

PROCEEDINGS OF THE COCHIN DEVASWOM BOARD

Abstract

Cochin Devaswom Board - Maramath wing- Repairs to Girls toilet at Sree Vivekananda College, Kunnamkulam - Thrissur Group- Quotations invited - Order issued

Read

- 1. Letter from SVC Principal
- 2. Note from AE dt. 05-06-2024
- 3. Note from AEE dt. 10-06-2024
- 4. Note from EE dt. 10-06-2024
- 5. Decision of DC dt. 12-06-2024

Order on H1. 1200/2024 dt. 25-06-2024

As per the papers cited above an estimate of Rs. 1,77,000/- (Rupees One lakh and seventy seven thousand only) is passed and sanction is accorded to execute the above work after inviting local quotations.

The sealed quotations should be received in this office on or before 04-07-2024 at 3 P.M. and will be opened at 3.30 P.M. on the same day in the presence of Executive Engineer, Cochin Devaswom Board/higher officials of Cochin Devaswom Board, Thrissur.

The sealed quotations should be addressed to the Executive Engineer, Cochin Devaswom Board, Thrissur and should contain the PAN number of the quotationer.

A copy of the estimate along with notification is herewith forwarded to Devaswom commissioner Devaswom Assistant Commissioner, Thrissur group for exhibiting in their office Notice boards.

> (By Order) Sd/-K. Sreeja Assistant Engineer

To

Notice Board, The Principal, Sree Vivekananda College,

The Assistant Commissioner - Thrissur,

The Devaswom Commissioner, The Executive Engineer.

The Assistant Executive Engineer,

The Assistant Engineer, Stock File

for Junior Superintendent Serios Clark

TS Register No: 619/2024-2025 AS Register No:611/2024-2025

REPAIR OF GIRLS TOILET AT SVC COLLEGE-KUNNAMKULAM-THRISSUR GROUP

Abstract Estimate

(Dsor year: 2018, Cost Index Applied for this estimate is 35.59%)

	1 cement concrete	
1	4.1.5 Providing and laying in position cement concrete of specified grade eshuttering - All work up to plinth level:1:3:6 (1 cement : 3 coarse sand nominal size)	
	Net Total Quantity	1.522 cum
	Say 1.522 cum @ Rs 7367.55 / cum	Rs 11213.41
	2 cement platering	
1	13.1.1 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	
	Net Total Quantity	35.020 sqm
Here	Say 35.020 sqm @ Rs 314.09 / sqm	Rs 10999.43
1	3 Dadooing 11.37A Providing and fixing st quality ceramic glazed floor tiles conform	
1	11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approvedby Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing the state of the stat	des except burgundy, bottle greers of steps and dados over 12 mounts over 12 moun
1	11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approved by Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing sqm including pointing in white cement mixed with pigmentof matching	des except burgundy, bottle greers of steps and dados over 12 m with grey cementslurry @ 3.3kg p shade complete.
1	11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approvedby Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing the state of the stat	des except burgundy, bottle greers of steps and dados over 12 mounts over 12 moun
1	Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approved by Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing sqm including pointing in white cement mixed with pigmentof matching. Net Total Quantity	des except burgundy, bottle greers of steps and dados over 12 m with grey cementslurry @ 3.3kg p shade complete.
1	Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approved by Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing sqm including pointing in white cement mixed with pigmentof matching Net Total Quantity Say 24.419 sqm @ Rs 1092.18 / sqm	des except burgundy, bottle gree rs of steps and dados over 12 m with grey cementslurry @ 3.3kg p g shade complete. 24.419 sqm Rs 26669.94 In (thickness to be specified by to ake, in colours such as White, Ivo cement : 4 Coarse sand), includi
	Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approved by Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing sqm including pointing in white cement mixed with pigmentof matching Net Total Quantity Say 24.419 sqm @ Rs 1092.18 / sqm 4 Ceramic floor tiling 11.37 Providing and laying Ceramic glazed floor tiles of size 300x300 mm manufacturer), of 1st quality conforming to IS: 15622, of approved matching Grey, Fume Red Brown, laid on 20 mm thick cement mortar 1:4 (1 Compared to the conforming to IS) in the conforming to IS: 15622, of approved matching the conforming the conforming to IS: 15622, of approved matching the conforming the IS: 15622, of approved matching the conforming the IS: 15622, of approved matching the I	des except burgundy, bottle gree rs of steps and dados over 12 m with grey cementslurry @ 3.3kg p g shade complete. 24.419 sqm Rs 26669.94 In (thickness to be specified by to ake, in colours such as White, Ivo cement : 4 Coarse sand), includi

1	50.18.9.13.2				
	Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 m spacing. The includes jointing of pipes & fittings with one step PVC solvent cement and testing of joints complete				
	per direction of Engineer-in-Charge 25 mm dia 10 Kgf/cm2- External	work - Exposed on wall			
	Net Total Quantity	3.000 metre			
	Say 3.000 metre @ Rs 275.89 / metre	Rs 827.67			
	6 32mm PVC 6Kgf/cm2	3.			
1	50.18.9.14.2 Providing and fixing PVC pipes, fittings including fixing the pipe wit includes jointing of pipes & fittings with one step PVC solvent cemen per direction of Engineer-in-Charge 32 mm dia 6 Kgf/cm2 - External	t and testing of joints complete			
	Net Total Quantity	3.000 metre			
	Say 3,000 metre @ Rs 309.78 / metre	Rs 929.34			
	7 50mm PVC 6Kgf/cm2				
	Providing and fixing PVC pipes, fittings including fixing the pipe wit includes jointing of pipes & fittings with one step PVC solvent cemen per direction of Engineer-in-Charge 50 mm dia 6Kgf/cm2 - External visit 1.1.5.	nt and testing of joints complete work - Exposed on wall			
	Net Total Quantity	3.000 metre			
	Say 3.000 metre @ Rs 385.16 / metre	Rs 1155.48			
	8 White cement washing	7115			
1	od44421/2024_2025 Cleaning and white cement washing 2 coat over new surface	4			
	Net Total Quantity	60.260 per sqm			
	Say 60.260 per sqm @ Rs 67.28 / per sqm	Rs 4054.29			
	9 Enamel painting	* 1			
1	13.61.1 Painting with synthetic enamel paint of approved brand and manufactories are coats on new work	cture to give an even shade:Two			
	Net Total Quantity	36.000 sqm			
	Say 36.000 sqm @ Rs 143.05 / sqm				
	Say 50.000 sqiii @ 13 140.007 sqiii	Rs 5149.80			
	10 Interlock tiles	Rs 5149.80			

	Net Total Quantity	46.250 sqm	
	Say 46.250 sqm @ Rs 1011.57 / sqm	Rs	46785.11
	11 Labour	5)	
1	od44693/2024_2025 Extra Labours br>Labour- Mate		
		8.000 Day	
	Say 8.000 Day @ Rs 971.70 / Day	Rs	7773.60
	12 Roof extention		
	cutting, hoisting, fixing in position and applying a priming coat of approvand bolted with special shaped washers etc. complete	ed steel prime	er, including weldir
	Net Total Quantity	70.000 kg	
		70.000 kg	11861.50
	Net Total Quantity Say 70.000 kg @ Rs 169.45 / kg 13 Contingency such as other unforseen items	Rs	11861.50
	Say 70.000 kg @ Rs 169.45 / kg	Rs	11861.50 4000.00
	Say 70.000 kg @ Rs 169.45 / kg 13 Contingency such as other unforseen items Lump-Sum Total	Rs	
	Say 70.000 kg @ Rs 169.45 / kg 13 Contingency such as other unforseen items Lump-Sum Total	Rs s Rs vice Tax @	4000.00
	Say 70.000 kg @ Rs 169.45 / kg 13 Contingency such as other unforseen items Lump-Sum Total Serv	Rs s Rs rice Tax @	4000.00
	Say 70.000 kg @ Rs 169.45 / kg 13 Contingency such as other unforseen items Lump-Sum Total Service Tax Amount	Rs s Rs rice Tax @	4000.00 18.0% 26927.47
	Say 70.000 kg @ Rs 169.45 / kg 13 Contingency such as other unforseen items Lump-Sum Total Service Tax Amount Other EngirTotal with Service Tax Amount	Rs s Rs rice Tax @	4000.00 18.0% 26927.47 76524.47
	Say 70.000 kg @ Rs 169.45 / kg 13 Contingency such as other unforseen items Lump-Sum Total Service Tax Amount Other EngirTotal with Service Tax Amount	Rs s Rs rice Tax @ 2 1	18.0% 18.0% 26927.47 76524.47 475.53

(Cost Index Applied for this estimate is 35.59%)